Mannat Group of Nursing Academy
NORCET (TEST-4)

Important Instructions:
¢ The question paper contain 200 questions
+ All questions are compulsory
* One question carries 1 mark only

1.

10.

11.

Full form of URL is?

(a) Uniform Resource Locator
(b) Uniform Resource Link
(c) Uniform Registered Link
(d) Unified Resource Link

Random Access Memory (RAM) is which storage of
device?

(a) Primay (b) Secondary (c) Teriary (d) Offline
Verification is process of ?

(a) Access (b) Login

(c) Logout (d) Authentication

Name of first super computer of India?
(a) Saga 220 (b) PARAM 8000
(c) ENIAC (d) PARAM 6000

What is full form of ALU?
(a) Arithmetic logic unit
(c) Ascii logic unit

(b) Allowed logic unit
(d) Arithmetic least unit

Insect : disease :: War:
(a) Army (b) Defeat
(c) Arsenal (d) Destruction

Find the odd number/letters from the given
alternatives.

() PQXZ (b) CQBN (c) ABDF  (d) PRMN
Which one will replace the question mark?
(a)4 (b) 6 (99 (d)8
3 ? 5
5 4 7
4 4 4
60 96 140

Choose the alternative which is closely resembles
the mirror image of the given combination
REASONING

(1) YeveoMno  (2) DUIMO2A3A
(3) A3ASOUIMD  (4) DNIMOSAIA
(@1 (b) 2 (c)3 (d) 4

Find the odd number / letters / word from the given
alternative
(a) Guava

(c) Papaya

(b) Litchi
(d) Watermelon

SCD, TEF, UGH, __, WKL

12,

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Total marks: 200
Time: 3 Hrs.

Ifin a certain language PROSE is coded as PPOQE,
how is LIGHT coded in that code?
(a) LIGFT  (b) LGGHT (c) LGGFT (d) LLGFE

Pointing at a photo, Dinesh said, "His father is only
son of my mother.” The photo belongs to- :

(a) Dinesh (b) Dinesh's brother

(c) Dinesh's father (d) Dinesh's son

The total of the ages of Amar, Akbar and Anthony is
80 years. What was the total of their ages three
years ago?
(@) 71years (b) 72 years (c) 74 years (d) 77 years
Our sir teaches Mathematics..... English.

(a) across  (b) besides (c) beside (d) both

Antonym of TURBULENT
(a) turbid = (b) violent (c) steady (d) critical
Synonyms of FAKE
(a) Original

(c) Trustworthy

(b) Imitation
(d) Loya

Find the correctly spelt word.
(a) Adulation (b) Adlation
(c) Aduletion (d) Addulation

Select the pair which has the same relationship. -
LIGHT : BLIND

(a) speech : dumb
(c) tongue : sound

(b) language : deaf
(d) voice : vibration

One word -A hater of knowledge and learning:
(a) Bibliophile (b) Philologist
(c) Misogynist (d) Misologist

Pollination is best defined as

*(a) transfer of pollen from anther to stigma
(b) germination of pollen grains

(c) growth of pollen tube in ovule

(d) visiting flowers by insects

Which of the following phenomenon is considered
responsible for Global Warming?

(a) Greenhouse effect (b) Fire in coal mines
(c) Dry farming (d) Monsoon

Who amongst the following had called Rabindranath
Tagore as THE GREAT SENTINEL?

(a) Abul Kalam Azad (b) Mahatma Gandhi

(c) Dr. Rajendra Prasad (d) Subhash Chandra Bose

(a) CMN (b) UJI () vy (YT
24. Which of the following is not associated with the
UNO?
() ILO (b) WHO (c) ASEAN (d) All
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The Centre for Cellular and Molecular Biology is
situated at
(a) Patna

(c) Hyderabad

(b) Jaipur
(d) New Delhi

When is the International Workers' Day?
(a) 15t April (b) 12t December
(c) 1st May (d) 15t August

Environmental education should be taught in
schools because

(a) It will affect environmental pollution

*(b) It is important part of life

(c) It will provide job to teachers

(d) We cannot escape from environment

Fathometer is used to measure
(a) Earthquakes  (b) Rainfall
(c) Ocean depth  (d) sound intensity

Which one of the following waves is used by the
common TV remote control?

(a) Radio waves (b) Lasers

(c) Infrared waves (d) Ultrasonic waves

Which bacterium is responsible for the formation of
curd?

(a) Lactic acid bacteria

(b) Lactobacillus Acidophillus

(c) Lactobacillus aureus

(d) Bacillus radicicola

A baby blue whale drinks this many liters of milk
per day: :
(a) 10 (b) 50 (c)190 (d) 500

A banana plant fits into which of these groups
(a) grasses (b) trees

(c) herbs (d) flowers

A 60 kg patient ordered IV Amikacin 25mg/kg body
weight/per day. After diving in two parts the
accurate single dose is
(@) 750 mg (b) 650mg (c) 700 mg (d) 450 mg
Cation present mostly in plasma is

(a) Sodium (b) Potassium

(c) Calcium (d) Magnesium

Which is the long acting insulin
(a) Glargine (b) NPH  (c) Regular (d) Lispro

You will use solution for spillage of blood on the
floor
(a) Chloride mixed solution (b) Phelol mixed

38.

39.

40.

41.

42,

43.

44,

45.

46.

(a) S. Calcium
(b) S. magnesium

(b) S. Potassium
(d) S. sodium

In the following is not a complication of giving
potassium chloride intravenous

(a) Phlebitis (b) Hyperkalemia

(c) Numbness (d) Constipation

We will assess which lab value in renal failure
patient

(a) Serum Creatinine
(c) Serum magnesium

(b) Serum calcium
(d) Serum chlorine

You are giving dextrose 50% to a patient1V, all are
complication EXCEPT
(a) Edema

(c) Hyperglycemia

(b) Renal failure
(d) Thrombophlebitis

0.45% normal saline is the
(a) Hypotonic (b) Isotonic
(c) Hypertonic (d) Colloid

A unconscious child came to you with dehydration,
the nurse do first

(a) Start IV infusion of RL

(b) Reassure the parents

(c) Give ORS to the child

(d) Collect history from parents

First day of menstrual cycle is 14 august. The EDD
according to negeles to
(a) 21 May (b) 14 June (c) 21 June (d) 14 May
A farmer came in emergency room with BP 80/60
mm of Hg and History of vomiting. Symptoms
indicating

(a) Severe dehydration
(c) Mild dehydration

(b) Anaphylactic shock
(d) Renal failure

A patient complaining nausea after having food. It is
which type of data
(a) Subjective

(c) Personal

(b) Objective
(d) None of them

Name the instrument

3 \ \
N \%
) N\
SIS
O o

(a) Needle Holder
(c) Syringe

(b) Forcep
(d) Incisor

(c) Cidex (d) Formaline 47. Normal pH range is
(a) 7.35 - 7.45 (b) 7.25-7.35
A patient receiving continuing salbutamol (c) 7.45-7.55 (d)7.15-7.25
nebulization therapy. Nurse assess for
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Doctor ordered 0.35 mg and available drug is 0.25
mg per ml. how much amount of drug should given
(a)1.4m (b)0.4ml (c)1.8ml (d)2.4ml

Angle used for giving IM injection is
(a) 45 degree (b) 90 degree
(c) 30 degree (d) 120 degree

Commonest site used for IM injection in infant is
(a) Vastus latrelis (b) Gluteal muscle
(c) Deltoid (d) Biceps

Common position in a child with tetralogy of Fallot
(a) Squinting (b) Prone
(c) Supine (d) Side lying

In Which stage there are formation of blisters
(a) Stage I (b) Stage II
(c) Stage I1I (d) Stage IV

Nursing Care in Exstrophy of bladder
(a) Dressing with normal saline

(b) Dressing with petroleum jelly

(c) Place clean plastic wrap

(d) Cathelerise the child

All the types of haemolytic anemia EXCEPT
(a) Iron deficiency anemia (b)Thalassemia
(c) Spirosis (d) G6PD deficiency

A patient have difficulty in smelling, nurse assess for
which cranial nerve
(a)Cranial nerve I

(c) Cranial nerve III

(b) Cranial Nerve 11
(d) Cranial Nerve IV

A client is receiving IV fluids and develops
tenderness, erythema and pain at the site. The nurse
suspects which of the following

(a) Fluid overload (b) Sepsis

(c) Phlebitis (d) Infiltration

A hypothermic neonate is airlifted from snowing
gulmarg and is admitted in NICU. The attending
nurse is asked to record the core temperature by the
attending Doctor while he is busy resuscitating
another child. Which area would be most accurate of
the core temperature
(a) Axillar

(c) Oral temperature

(b) Forehead skin
(d) Tympanic membrane

Neural tube defects can be prevented by
(a) Supplementation with hydantoin

(b) Supplementation with Vitamin B complex
(c) Maternal folate supplementation

(d) Prophylaxis with valproic acid

The nurse is caring for a child with sickle cell
anemia. To prevent thrombus in capillaries, as well
as other problems from stasis and clotting of blood
in the sickling process, the nurse should

60.

61.

62.

63.

64.

65.

66.

(a) Administer oxygen

(b) Increase fluids by mouth and use a humidifier
(c) Encourage the child to maintain bed rest

(d) Administer prescribed anticoagulants

A patient with diagnosis of urosepsis has been
admitted to the ward. You have been asked to start
noradrenaline for hypotension. What is the normal
route of administration

(a) Wide bore cannula in posterior tibial vein

(b) peripheral cannula

(c) wide bore cannula placed in brachial vein

(d) Central venous line in the Subclavian vein

During wards round, you find that a 24 year old
patient with mania is very abusive and aggressive;
there is imminent danger of his becoming physically
assaultive. What do you should NOT do

(a) Avoid reassuring touching of the patient

(b) Confront him

(c) Keep a safe distance from him

(d) Use of clean language

A resident has given a top of epidural infusion of 3
mg morphine with 10 ml of 0.1% ropivacaine. Which
of the following symptom requires immediate action
(a) Bladder bowel incontinence

(b) Confusion

(c) Fast pounding pulse

(d) Hallucination

Which of the following is considered the fifth vital
sign in emergency department

(a) Motor response (b) Response to pain

(c) Verbal response (d) Papillary reaction to light

A 40 year old unconscious patient is brought to the
causality following road traffic crash. His blood
pressure was 80/60 mm of Hg. What will nurse do
first

(a) Protect airway (b) Start vasopressors

(c) CT scan Head (d) Infuse 2 liter of crystalloids

Identify the device shown in picture

T

(a) Vascular ring connector (b) Cardiac pacemaker
(c) Cardiac shunt (d) Coronary stent

Order of 180 mg of cefotaxime intravenously,
available form is 500 mg/5ml. what is the amount of
medication to be administered using a 2ml syringe
with 10 divisions per ml
(a) 8 divisions

(c) 12 divisions

(b) 18 divisions
(d) 1.8 divisions
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A woman using diaphragm for contraception should
be instructed to leave it in place for at least how long
after intercourse
(@)6hrs. (b)12hrs. (c)1 hr. (d) 28 hrs.

While assessing a patient’s cranial nerves, the nurse
asks the patients to raise the eyebrows, smile and
show the teeth to assess which cranial nerve

(a) Vegus (b) Olfactory

(c) Facial (d) Optic

A nurse is monitoring manometer for CVP value
from a central line inserted in a patient in ICU on
face mask with oxygen. For correct reading she
should record value at

(a) She should disconnect the manometer just before
reading

(b) Either is correct

(c) End expiration

(d) End inspiration

All of the following, for women with breech
presentation at term seeking vaginal breech
delivery is true EXCEPT

(a) Diagnosing breech presentation for the first time in
labour is a contraindication to vaginal breech delivery
(b) Continuous electronic fetal heart rate monitoring
should be offered to women with breech presentation in
labour

(c) Vaginal breech delivery should be conducted in
presence of a person skilled in the conduct of labour
with breech presentation

(d) vaginal breech delivery should take place in a
hospital with facilities for emergency caesarean section

The doctor has ordered 500 ml 5% dextrose to
administer for 5 hours. It should be administered
using a burette set. The nurse has to set the drops
per minute to deliver the appropriate amount.
Calculate flow rate

(a) 100 micro drops per minute

(b) 80 micro drops per minute

(c) 100 macro drops per minute

(d) 80 macro drops per minute

During a dressing change, inspection of the wound
reveals what appears to be reddish pink tissue in
the wound. The nurse interprets this as

(a) Exudate (b) Granulation tissue

(c) Eschar (d) A sign of infection
Each community development block should have
(a) 1 CHC (b) 4 CHC

(c) 8 CHC (d) 2 CHC

74.

75.

76.

77.

78.

79.

80.

81.

Identify

the forceps
L= e

(a) Allis
(c) Debakeys

(b) Babcoks
(d) Kochers

What should be added to normal saline which is
connected to arterial line measuring invasive blood
pressure

(a) Potassium
(c) Heparin

(b) Protamine
(d) Calcium

A client with schizophrenia has been started on
medication therapy with clozapine. The nurse would
assess the results of which laboratory study to
monitor for adverse effect of this medication

(a) Liver function studies

(b) Blood glucose level

(c) White blood cell count

(d) Platelet count

Which of the following is not a mood stabilizing

agent
(a) Fluoxetine (b) Lithium carbonate
(c) Valproic acid (d) Clonazepam

The normal rate of cervical dilation in the active
phase of first stage of labor in a primigravida is
(a) 0.5 cm/hr. (b) 2 cm/hr.

(c) 1 cm/hr. (d) 1.5 cm/hr.

The term used to describe the discharges from the
uterus during the puerperium and has an alkaline
reaction is

(a) vaginal discharge
(c) Amniotic secretions

(b) Peurperal discharge
(d) Lochia

A nurse in the labour room performing vaginal
assessment on a regnant client in labour and notes
the pressure of the umbilical cord protruding from
uterus. What should be the initial nursing action
(a) Gently push the cord into the vagina

(b) Place the client in Trendelenburg position

(c) Perform vaginal exam to note the presentation

(d) Notify the staff that the client will be transported
immediately to delivery room

A phenomenon during therapeutic nurse client
relationship when the client unconsciously
attributes(or transfers) to the nurse feelings and
behavioral predispositions formed towards a
person from his or her past is

(a) Resistance (b) Boundary Violation
(c) Transference (d) Counter transference
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A patient is in emergency department has an
endotracheal tube in place and is on the ventilator.
His relative comes running to you telling you that
the patient has pulled the tube out of his mouth.
What would be nurse next step?

(a) Apply face mask with high flow oxygen

(b) Sit the patient up and consider chest physiotherapy
to get the secretions out

(c) Reinsert the tube immediately under sedation

(d) Pull the tube out completely, bag and mask the
patient and assess spontaneous breathing efforts

Kit supplied at sub centre is
(a) KitE (b) Kit M
(0) KitK (d) Kit B

During blood transfusion the most important
nursing responsibilities is

(a) Draw a sample from the patient before each unit is
transfused

(b) Warm the blood to body temperature to prevent
chilling

(c) Run the blood at a slower rate during the first few
minutes of the transfusion

(d) Maintain patency of the IV catheter with dextrose
solution

False sensory perception not associated with real
external stimuli is called
(a) Concrete thinking

(c) Mlusion

(b) Delusion
(d) Hallucination

In Chest tube drainage system there is fluctuations
in water seal chamber with respiratory efforts.
Nurse assess for

(a) Kinking of chest tube
(c) Air leaking

(b) Normal process
(d) None of them

There is no oscillation seen in drainage system. The
nurse understands that
(a) Tube is blocked

(c) Air leaking

(b) Itis normal
(d) None of the above

A patient receive highest oxygen by
(a) Mask with reservoir bag (b) Venturi mask
(c) Nasal cannula (d) Simple mask

Pepsinogen secretes by
(a) Chief cells (b) Mast cells
(c) Beta cells (d) Parietal cells

Normal Bone cells is known as
(a) Osteoce (b) Osteoblast
(c) Osteoclast (d) Monocyte

A patient in ward with prior MI attack. He complains
for chest pain, first action of nurse is

(a) Provide nitroglycerin S/L (b) Get an ECG done

(c) Order tropt (d) Order an echo

92.

93.

94,

95.

96.

97.

A Patient shifted in operation theatre. Anaesthetist
instruct to place ECG monitoring and a 3 lead ECG
available. What will you do
(a) Observe with II lead

(c) Look for a 12 lead ECG

(b) Cancel the operation
(d) Shift patient to ward

A nurse will keep in isolation of a patient with
bacterial meningitis for

(a) 24 hr.

(b) 12 hr.

(c) Till culture negative

(d) After 12 hour of antibiotic given

A patient complaining visual disturbance, nurse
knows it is the side effects of which drug

(a) Etambuto (b) Pyrazinamide

(c) Rifampicin (d) Lithium

Precautions used when caring of a rubella patient
(a) Droplet (b) Contact
(c) Universal (d) Hand washing

Which of the following instrument is used for
recording the electrical activity of the brain
s B

|
3

#/3

(a) ECG

(b) EMG

(c)PCG  (d) EEG
A women came with complaining of recurrent
uterine bleeding, nurse action involves

(a) Cryotherapy (b) Prepare for Pap smear
(c) Antihemorrhagic drug (d) Reassurance

98. Effect of vasodilator includes

(a) Hypotension
(c) Diuresis

(b) Hypertension
(d) Sweating

99. Osmolarity of sodium normal saline is

100.

101.

(a) 1.34 mEq/L
(c) 154 mEq/L

(b) 144 mEq/L
(d) 164 mEq/L

A unconscious patient brought by their relatives,
your priority should be

(a) Remove secretions & Clean airway

(b) Provide oxygen

(c) Give adrenaline

(d) Call the physician

The drug used the prevent aspiration and
decrease the secretions is
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(a) Atropine
(c) Noradrenaline

(b) Adrenaline
(d) Dopamine

A patient had sudden reaction minute after a

drug given is type of
(a) Anaphylactic (b) Septic
(c) Side effects (d) None

Adrenaline used for dental anesthesia is
(a) 1: 100000 (b) 1: 10000
(c) 1:200000 (d) 1:100

To increase the effects of local anesthesia use of
(a) Epinephrine (b) Norepinephrine
(c) Atropine (d) Dobutamine

How a nurse assess the proper function of
laryngeal nerve after thyroidectomy

(a) Tell a speak words (b) Throat swab for gag reflex
(c) Provide oral fluids (d) Check motor response

A client came into OPD and doctor need for
assessment of Arterial blood gas analysis. Which
artery should use
(a) Radial

(c) Femoral

(b) Brachial
(d) Carotid

Station in OG is related to
(a) Ischial spine (b) iliac spine
(c) Coccyx (d) Cervix

Normal color of amniotic fluid is
(a) Clear (b) Dark brown
(c) Greenish (d) Reddish

Most reliable sign to assess fetal condition
(a) Decreased movement of fetus

(b) FHR below 100/min

(c) FHR below 160/min

(d) Amount of amniotic fluid

pH of vagina become acidic due to
(a) Bartholin gland (b) Sebaccous gland
(c) Doderlin bacillus (d) E coli

Maximum dose of atropine can be given is
(@1mg (b)3mg (c)5mg (d)10mg

Patient had reaction after blood transfusion. The
first action should be

(a) Stop the transfusion immediately

(b) Call to the doctor

(c) Monitor vital signs

(d) Slow the rate of transfusion

113.

114.

115.

116.

117.

118.

A nurse caring patient which receiving TPN in
ICU, Nurses action should be

(a) Discard the TPN bag after 24 hours even some
fluids in the bag

(b) Continue start TPN

(c) Stop the TPN for some time

(d) All of the above

Edema is due to EXCEPT

(a) Increased hydrostatic pressure

(b) Decrease hydrostatic pressure

(c) Reduced oncotic pressure within vessels
(d) Increased blood vessel wall permeability

Universal recipient for blood is
(@) O +ve (b)O-ve (c)AB+ve (d)AB-ve
Antidote of MgS04 Is

(a) Calcium gluconate (b) Potassium chloride
(c) Protamine sulphate (d) Naloxen

Which plan divided the body in anterior &
posterior
(a) Frontal
(c) Parasaggital

(b) Saggital
(d) Transverse

Which is true with Kangaroo mother care

(a) Skin to skin contact, breast feeding, prevention
from infection

(b) Skin to skin contact, breast feeding, early
discharge

(c) Skin to skin contact, early discharge , prevention
from infection

(d) Early discharge, breast feeding, prevention from
infection

119. Which is the instrument shown in below?

120.

121.

(a) Aneurysm needle
() Trucut biopsy needle

':~|: 4,
(b) Veress needle
(d) Cobbler needle

Inferiority v/s Guilt shown in the age of
(@) 0-1year (b) 1 -3 year
() 3 -6year (d) 6-12 year

According to Erickson stages of development 4
year old child comes under
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(a) preschooler
(c) toddler

(b) schooler
(d) infant

Worker in ICDS programme is
(a) aanganwari (b) village health guide
(c) health supervisor  (d) MPW

A nurse keep in mind while giving heparin

injection to a patient *

(a) don’t aspirate & don’t message
(b) do aspirate & don’t message
(c) don’t aspirate & do message
(d) do aspirate & do message

Method used to give haloperidol injection
(a) Z track (b) N track
(c) M track (d) W track

A child suspected to have pin worm, to confirm
nurse should tell the mother to

(a) bring 3stool sample & observe with eyes

(b) bring 3 stool sample and send for culture

(c) inspection of perineal area

(d) assess the hygienic status of child

A nurse teaches the client to collect urine
specimen for bacterial infection include
(a) collect midstream of early void

(b) collect specimen at any time

(c) collect specimen after first void

(d) 24 hour urine collection

A child is not giving his toys to another this type

of play
(a) parallel play (b) group play
(c) social play (d) all of above

Heart sound are produce by
(a) closure of heart valves

(b) contraction of atrium

(c) contraction of ventricles
(d) SA node

Common cause of heart stenosis in India is
(b) CAD
(d) atherosclerosis

(a) rheumatic fever
(c) cardiomegaly

Polycythemia in children shws the symptom of
(a) cardiomegaly (b) edema
(c) polyuria (d) flushed face

A dull sound heard during chest percussion, it is
due to the presence of

(a) Mass (b) Fluid  (c) Bone (d) Air

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

Which blood vessel carry blood from lungs to
heart

(a) pulmonary vein
(c) superior vena

(b) pulmonary artery
(d) aorta

While recording oxygen with pulse oxymetry of a
newly married patient, the nurse should do

(a) remove nail polish (b) remove bangles

(c) used the finger (d) none of the above

Best intervention in haemarrhagic shock is to
provide total fluid?
(a) 1- 2 litre fluid
(c) 3 - 4 litre fluid

(b) 2 - 3 litre fluid
(d) 4 - 5 litre fluid

Best method to check fluid replacement in adult is
(a) urine output (b) respiration
(c) blood pressure (d) pulse pressure

To check the skin turgor nurse should do
(a) pinch the skin gently and observe

(b) measure the skin fold thickness

(c) ask the client to take 2-3L of fluid

(d) ask the client to lay down in prone position

A neonate doesn’t pass Meconium after 24 hours
of delivery and neonate suspected for
hurshprung’s disease the next action should be
(a) prepare for surgery

(b) insert feeding tube

(c) insert rectal tube and give enema of normal saline
(d) provide ryle’s tube feeding

A patient doesn’t pass urine and his kidney works
normal the term used to describe this condition is
(a) retention (b) oliguria

(c) renal failure (d) anuria

Least effective therapy in OCD is

(a) exposure (b) medication

(c) cognitive therapy (d) physical exercise

A client sleep between conversion, describe as
(a) narcolepsy
(c) sleep apnea

(b) insomnia
(d) somnambulism

A patient shows which of the following symptom
of overdose of lithium

(a) Polyuria and drinking water

(b) weight loss

(c) leukocytopenia

(d) hyporeflexia
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146.
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148.
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151.

152.
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“scheduled activity “therapy is used patient with
(a) negative symptoms of schizophrenia

(b) depression

(c) mania

(d) OCD

Body part goes midline to away is termed
(a)abduction (b) supination
(c) adduction (d) flexion

All are the risk factors of cardiac disease EXCEPT
(a) office job (b) age above 70 years
(c) T se HDL level (d) Tse LDL level

Person’s lab value shows cholesterol level 300mg
the nurse advised to the person

(a) to check lipid profile

(b) modify the dietary pattern

(c) collect history regarding ADC

(d) reduce the weight

Hormone responsible for milk ejection is
(a) Oxytocin (b) ADH
(c) prolactin (d) insulin

An OCD patient become good and family stop the
treatment before three months nurse teach the
family about the drug is

(a) treatment for long time

(b) no dependence occur with the treatment

(c) after total cure doctor stop the treatment

(d) no more treatment is needed for the client

A person thinks that somebody follows him
because he had secret paper in his briefcase it is
(a) delusion (b) idea of reference

(c) idea suspect (d) delusion of grandeur

This is not the effect of cold therapy
(a) vasodilation (b) vasoconstriction
(c) reduce pain (d) stop bleeding

Pain scale used for the assessment of pain in
postoperative patients is
(a) VAS (b) AVP (c) VAP  (d) VSP
Shakir tape is used to measure

(a) Midarm circumference (b) head circumference

(c) chest circumference (d) total length

While suctioning of the patient placed ET tube in
the mouth suction catheter should insert
(a) insert till obstruct the catheter in trachea

(b) total length of catheter
(c) tip of the nose to ear and ear to chest
(d) insert the catheter beyond carina

153. A child is hospitalized because of persistent
vomiting. The nurse should monitor the child closely
for which problem?

(a) Diarrhea
(c) Metabolic alkalosis

(b) Metabolic acidosis
(d) Hyperactive bowel sounds

154. The nurse is reviewing the laboratory results for a
child scheduled for a tonsillectomy. The nurse
determines that which laboratory value is most
significant to review?

(a) Creatinine level
(c) Sedimentation rate

155.

156.

157.

158.

159.

160.

161.

(b) Prothrombin time
(d) Blood urea nitrogen level

Normal anion gap is
(@) 1-4mEq/L
(c) 4 -8 mEq/L

(b) 18 - 24mEq/L
(d) 8-16 mEq/L

After inspection which technique should be used
for proper abdominal assessment

(a) auscultation (b) observation

(c) palpation (d) percussion

What characteristic of anxiety is associated with a
diagnosis of conversion disorder:

(a) free floating

(b) relieved by the symptom

(c) consciously felt by the client

(d) projected onto the environmental

What characteristic uniquely associated with
psychophysiological disorder differentiates them
from somatoform disorder?

(a) emotional cause

(b) feeling of illness

(c) restriction of activities

(d) underlying pathophysiology

A 38 year old lady want to used spacing method
she is smoking one packet of cigarettes daily
which method is contraindication

(a) oral contraceptive pills (b) diaphragm
(c) copper T (d) female condom

Which is used first to treat hypovolemic shock
(a) plasma (b) whole blood
(c) fresh blood (d) packed cells

In the third stage of labor uterus became hard the
immediate action of the nurse is
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168. The client returns to the recovery room following

(a) uterine massage
(c) record temperature

(b) increase oral fluid
(d) shift to ward

The client is admitted with thrombophlebitis and
an order for heparin. The medication should be
administered using:

(a) Buretrol (b) A tuberculin syringe
(c) Intravenous controller (d) 3-way stop-cock

The client is admitted to the hospital in chronic
renal failure. A diet low in protein is ordered. The
rationale for alow-protein diet is:

(a) Protein breaks down into blood urea nitrogen and
metabolic waste

(b) High protein increases the sodium and potassium
levels

(c) A high-protein diet decreases albumin production
(d) high-protein diet depletes calcium and
phosphorous

The client is admitted to the unit after a motor
vehicle accident with a temperature of 102°F
rectally. The nurse is aware that the most likely
explanation for the elevated temperature is:

(a) There was damage to the hypothalamus

(b) He has an infection from the abrasions to the head
and face

(c) He will require a cooling blanket to decrease the
temperature

(d) There was damage to the frontal lobe of the brain

The nurse is caring for the client following a
cerebral vascular accident. Which portion of the
brain is responsible for taste, smell, and hearing?
(a) Occipital  (b) Frontal (c) Temporal (d) Parietal

A 20-year-old is admitted to the rehabilitation
unit following a motorcycle accident. Which would
be the appropriate method for measuring the
client for crutches?

(a) Measuring five finger breaths under the axilla

(b) Measuring 3 inches under the axilla

(c) Measuring the client with the elbows flexed 10°
(d) Measuring the client with the crutches 20 inches
from the side of the foot

The nurse is doing bowel and bladder retraining
for the client with paraplegia. Which of the
following is not a factor for the nurse to consider?
(a) Dietary patterns (b) Mobility

(c) Fluid intake (d) Sexual function

repair of an intrathoracic aneurysm. Which
finding would require further investigation?
(a) Pedal pulses bounding and regular

(b) Urinary output 20mL in the past hour

(c) Blood pressure 108/50

(d) Oxygen saturation 97%

169. What is the name of catheter

(a) Mallecot's
(c) Sengstaken

(b) Foleys
(d) Hudd's

170. The nurse is teaching the client regarding use of

171.

172.

173.

sodium warfarin. Which statement made by the
client would require further teaching?

(a) I will have blood drawn every month

(b) I will assess my skin for a rash

(c) I take aspirin for a headache

(d) I will use an electric razor to shave

A client with a femoral popliteal bypass graft is
assigned to a semiprivate room. The most suitable
roommate for this client is the client with:

(a) Hypothyroidism (b) Diabetic ulcers

(c) Ulcerative colitis (d) Pneumonia

The nurse has just received shift report and is
preparing to make rounds. Which client should be
seen first?

(a) The client who has a history of a cerebral
aneurysm with an oxygen saturation rate of 99%

(b) The client who is three days post-coronary artery
bypass graft with a temperature of 100.2°F

(c) The client who was admitted 1 hour ago with
shortBness of breath

(d) The client who is being prepared for discharge
following a femoral popliteal bypass graft

The doctor has ordered antithrombolic stockings
to be applied to the legs of the client with
peripheral vascular disease. The nurse knows that
the proper method of applying the stockings is:

(a) Before rising in the morning

(b) With the client in a standing position

(c) After bathing and applying powder

(d) Before retiring in the evening
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179.
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The nurse is preparing a client with an axillo-
popliteal bypass graft for discharge. The client
should be taught to avoid:

(a) Using a recliner to rest

(b) Resting in supine position

(c) Sitting in a straight chair

(d) Sleeping in right Sim’s position

While caring for a client with hypertension, the
nurse notes the following vital signs: BP of
140/20, pulse 120, respirations 36, temperature
100.8°F. The nurse’s initial action should be to:
(a) Call the doctor

(b) Recheck the vital signs

(c) Obtain arterial blood gases

(d) Obtain an ECG

The nurse is caring for a client with peripheral
vascular disease. To correctly assess the oxygen
saturation level, the monitor maybe placed on the:
(a) Abdomen  (b) Ankle (c) Earlobe (d) Chin

Dalteparin (Fragmin) has been ordered for a
client with pulmonary embolis. Which statement
made by the graduate nurse indicates inadequate
understanding of the medication?

(a) I will administer the medication before meals

(b) I will administer the medication in the abdomen
(c) I will check the PTT before administering the
Medication

(d) I will not need to aspirate when I give Dalteparin

The client has a prescription for a calcium
carbonate compound to neutralize stomach acid.
The nurse should assess the client for:

(a) Constipation (b) Hyperphosphatemia
(c) Hypomagnesemia (d) Diarrhea

A client who has been receiving urokinase has a
large bloody bowel movement. What nursing
action would be best for the nurse to take
immediately?

(a) Administer vitamin K IM

(b) Discontinue the urokinase

(c) Reduce the urokinase and administer heparin
(d) Stop the urokinase, notify the physician, and
prepare to administer amicar

Which of the following best describes the language
of a 24-month-old?

(a) Doesn’t understand yes and no

(b) Understands the meaning of words

181.

182.

183.

184.

185.

186.

(c) Able to verbalize needs
(d) Continually asks “Why?” to most topics

In terms of cognitive development, a 2-year-old
would be expected to:

(a) Think abstractly

(b) Use magical thinking

(c) Understand conservation of matter

(d) See things from the perspective of others

The nurse is ready to begin an exam on a 9-month-
old infant. The child is sitting in his mother’s lap.
What should the nurse do first?

(a) Check the Babinski reflex

(b) Listen to the heart and lung sounds

(c) Palpate the abdomen

(d) Check tympanic membranes

Which of the following examples represents
parallel play?

(a) Jenny and Tommy share their toys

(b) Jimmy plays with his car beside Mary, who is
playing with her doll

(c) Kevin plays a game of Scrabble with Kathy and Sue
(d) Mary plays with a handheld game while sitting in
her mother’s lap

Assuming that all have achieved normal cognitive
and emotional development, which of the
following children is at greatest risk for accidental
poisoning?

(a) A 6-month-old
(c) A 10-year-old

(b) A 4-year-old
(d) A 13-year-old

An important intervention in monitoring the
dietary compliance of a client with bulimia is:

(a) Allowing the client privacy during mealtimes

(b) Praising her for eating all her meals

(c) Observing her for 1-2 hours after meals

(d) Encouraging her to choose foods she likes and to
eat in moderation

The client is admitted for evaluation of aggressive
behavior and diagnosed with antisocial
personality disorder. A key part of the care of such
aclientis:

(a) Setting realistic limits

(b) Encouraging the client to express remorse for
behavior

(c) Minimizing interactions with other clients

(d) Encouraging the client to act out feelings of rage
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A client with a diagnosis of passive-aggressive
personality disorder is seen at the local mental
health clinic. A common characteristic of persons
with passive-aggressive personality disorder is:
(a) Superior intelligence (b) Underlying hostility

(c) Dependence on others (d) Ability to share feelings

A new nursing graduate indicates in charting
entries that he is a licensed practical nurse,
although he has not yet received the results of the
licensing exam. The graduate’s action can result in
what type of charge:
(a) Fraud

(c) Malpractice

(b) Tort
(d) Negligence

A client with acute leukemia develops a low white
blood cell count. In addition to the institution of
isolation, the nurse should:

(a) Request that foods be served with disposable
utensils

(b) Ask the client to wear a mask when visitors are
present

(c) Prep IV sites with mild soap and water and alcohol
(d) Provide foods in sealed single-serving packages

A 70-year-old male who is recovering from a
stroke exhibits signs of unilateral neglect. Which
behavior is suggestive of unilateral neglect?

(a) The client is observed shaving only one side of his
face

(b) The client is unable to distinguish between two
tactile stimuli presented simultaneously

(c) The client is unable to complete a range of vision
without turning his head side to side

(d) The client is unable to carry out cognitive and
motor activity at the same time

The nurse is providing discharge teaching for a
client taking dissulfiram (Antabuse). The nurse
should instruct the client to avoid eating:

(a) Peanuts, dates, raisins

(b) Figs, chocolate, eggplant

(c) Pickles, salad with vinaigrette dressing, beef
(d) Milk, cottage cheese, ice cream

A client has been receiving cyanocobalamine
(B12) injections for the past 6 weeks. Which
laboratory finding indicates that the medication is
having the desired effect?

(a) Neutrophil count of 60%

(b) Basophil count of 0.5%

(c) Monocyte count of 2%

(d) Reticulocyte count of 1%

193.

194.

195.

196.

197.

198.

199.

200.

Which sensation does not reach the thalamic
nuclei before it is relayed to cerebral cortex?
(a) Vision (b) Taste (c)Hearing (d) Smell

Which of the following vaccination is recently
recommended for adolescent girls?

(a) Tetanus toxoid *(b) Rubella vaccine
(c) Penta vaccine (d) Typhoid vaccine

A 17-year-old receives whole body radiation as
part of a preparatory regimen for bone marrow
transplantation which of the following cells and
tissues in the body is most likely to remain
unaltered by the effects of this therapeutic
radiation?

(a) Neurons of cerebral cortex

(b) Erythropoietic cells of bone marrow

(c) Small intestinal epithelium

(d) Spermatogonia of testicular tubules

The most important function of forceps
(a) Compression (b) Traction
(c) Rotation of head (d) Grasping of fetal head

An arterial thromboembolic is most likely to
produce a hemorrhagic infarct in which
organ?
(a) kidney (b)liver (c)lungs (d) bone
Amniotic fluid contains acetylcholine esterase
enzymes, what is the diagnosis?

(a) Osteogenesis imperfect (b) Gastroschisis

(c) Omphalocoele (d) Open spina bifida

The clinic nurse reads the results of a tuberculin
skin test (TST) on a 3-year-old child. The results
indicate an area of induration measuring 10 mm.
The nurse should interpret these results as which
finding?

(a) Positive (b) Negative

(c) Inconclusive(d) Definitive & requiring a repeat test

The nurse performing an admission assessment
on a 2-year-old child who has been diagnosed with
nephrotic syndrome notes that which most
common characteristic is associated with this
syndrome?

(a) Hypertension

(b) Generalized edema

(c) Increased urinary output

(d) Frank, bright red blood in the urine
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